[EEY

Ratio to ATLAS

900 GeV p Underlying Event

| I I I | I I I | I I | I I I |_ ﬂ
I — 1
O]
- Average p_vs p':ad (Nl <2.5,p >0.5 GeV) 1z
— —=
—  m  ATLAS S
IS ¢ Sherpa 2.2.9 default _ 8—
B I
_ o
B 1o
— —.=
n e
- <
— ™M
- ) — (?r-)
B AT B o
- Ay — 3
= e n —~
n ot m mft
- 9.4..0--0""'"l m H u s
- ” ’--:'..... _S
C gl -8
o e
. %)
B ks
— 8
_I | | | | | | | | | | | | | | | | | |_ E
:I T | T T T | T T T | T T T | T T T |:
— =2
- . -
- BTSSR SO S = A S s
| ".”’ ‘ ’ ’ ‘ ’ ’ ‘ ’ ----- ’ ’ ’ ’ ]
—* 1
| —0.5
| 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 |
2 4 6 8 10

P, (leading track) [GeV]
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